o-rqt G-nliwh Juucudu 3 Ighguting

:ny-00:01 Upmp Udo Lidudmy nmhdo wimnumi Ynunfmy ddnmpmbnmy Ulm mu@mgl wighdnh?

dgubmnmpimm mudnufudm ybumhmBmelnd pmh wigdnh dugdbmampim Igddhmdy windn Jhuliupmngnmy
huhmuinmin  gmpthuthpm  Jdgn@mufidm JbdmhmbBmelnd  6gludu  Uhubupmnpnms "G
o-nql G-pliuh Jnucudu J Ighmuting

:mulehugdubnm do g lgymn nfmgmpmy
Ywgh g domhluy ld-g; ydnguo >> «nynmp Yugnmung» Bgludu Thulupmngnms -y

0-pqu G-pluh Jmucudu 3 lghmuting
+ 000/8 Jwn ug udhmp Ng g/ hud Juhufdum gmhBimig G
+ 05.061 Jwn g udhmp gumluhug nggnuy ¥
+ 00861 Jwn tug udhmp ehuly nmhmng ¢
+ 00S0€ Jwn UG thug ndfmdnm 4
+ 8v80¢ Jwn nuuug Luhgwl g |
0-ngu ¢-nluh Jmududu § Ighmuting
Jmdmhmd Ol UUug T
Jmdmhmd Jwn bug udhmp |
 Udgnimihwn | Umunmhnm Jdgnbdhmnnmp | 5/5

"Udgndmufudm
nmpunmymnb  lgnmnnmy - 6gZudu Uhubupmngnmy  Oimidbudgh  hulgmubind — d@pys ‘Ighdgdmnwunimy
ngé dgamulehunmnjnmnmimmpmynm Jugndnmymm nmpduhmhmudu Bdpluh JugnByhmanmp T

0-pqu G-nluh Jududu 3 Ighmuting
‘Lunmnjnmuimmmpmy dnmiehunmhmuy ng muhudmpmy dugnmufehudmuminimy

gmubmimhugn YdgnBuhmnnmp dulud ydu wnd  nmnjominmn 3 IghBmunn nyamhmhel 71022150
‘gudpuh Ydgnumupmhyg ambmugn dgelndum namichudmhmumb 55 Ighdminmh § muBdmy hunmp
YugnByhmnnmp gmuBgumdb g Udz M nyY-| nynmp ampunZy. Yugnimihin emhngumnjmn Junghmelng Ld
€ Yugh Ld-gy ybumh «nynmp nmphdghmpbmh Yémelndedub Jugnmung» gmhunmunnmy dpmp2udu n-gzg N

Unmhmhel /10z'G0'+0 nmlehudmhmumh >> nynmhmhel /10z°z1°60 du ‘mulehuindb | 1gmuting !

nynmp wignmymnb Tugellelminnmih Luduhmnpy Unufehunmnajnminmhmpmy
nydgndgmymm nmpduhmhmdu 6aqdy Jugnbyhmnnmp gmubglimdb Tugwn ny-1 ybumhmBmelng

ot
%{L ‘_,5{/{/27/ nmipmisdmp 1 dmlnudhdmd Jhulbupmngoms
v

amiunmn

nmipmun -k

i)

/ aminudythdmp

=5

il 15
=T D nmimalge: 't dgapminm dhubupmagnm>
! ~ I& nmfihdhnn  ymbmnjmn Yhulupmnpnm>
éﬁ i Y3 mubhmnnmy)
og:1 dpmp -
/1022180 g -
hmingn z/pzz ‘(1 Buliuth Yythdybun ‘ammdg @) a@qge amhmidmh ynmumihgma@mUumd ynmnug udimy, -

Ywnyn ghuliupmngnmy bunmymnb JbumhmBbmelnd hudbmhemg «z/g1-gEWN>b -#9»
S N WUENUJBNINEIN



